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CORRIGÉ DE L’EXERCICE

Nombres Complexes 
Équations Polynomiales



CORRECTION

Résolvons dans  l’équation (1 ):

Soit l’équation:  1
z 2 

 - 4
z 
 + 13 = 0,  avec  z  0.

1
z 2 

 - 4
z
 + 13 = 0   <=>   13 z 2 - 4 z + 1 = 0,  avec  z  0.

	 ( az 2 + b z + c = 0 )

Calculons:   = b 2 - 4 a c.

Ici:  a = 13, b = - 4 et c = 1.

D’où:   = - 36  ou encore   = ( 6 i ) 2.

D’où deux solutions:  • z1 = 4 - 6 i
26

 = 2
13

 - i  3
13

  ,

	 • z2 = 4 + 6 i
26
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 + i  3
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  .

4ÉQUATION DU SECOND DEGRÉ

freemaths . fr  •  Mathématiques	 Nombres Complexes 

Fr
ee

m
at

hs
 : T

ou
s 

dr
oit

s 
ré

se
rv

és




